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1. (24%=8%+8%+8%) Let

110 0
011 =2
A=1102 1
114 1
(a) Find det(A).
(b) Find A~
(c) Solve the system of linear equations
I 0
ZTa| 1
A I3 - 0
Ty 0

2. (24%=8%+8%+8%) ¥| i T #| & & 9 & & & linearly independent
; F2

27 372
(a) { 11,121 12| }inRR3
-2]1 |-2] |0

o {BIL E ] eren

(c) {z,z+ 1,22+ 1} in P3———{a,a:2—f—b$—|—c | a,bceR}.

3. (10%) Let E = {u1,us} and F = {v1,va} be ordered basis for R?, where

1 2 5
w = { }’ Uy = [7} and v; = { ], Vi = Lﬂ Determine the transition

3 2
matrix (##34E ™) corresponding to a change of basis from {uy,us} to
{Vl ) V2} .
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4. (10%) Let A= 5309 99l Find rank(A) and nullity(A).
34333

5. (18%=6%+6%+6%) True or false: A T 43t » B ZEXH(T) R (F)&
HO9EFH BEY o St FRERHA -

I
(a) S={|z2| | 21+ 22 =23} W EZEHR3 69—18F % H (subspace) °
L3

(b) #HEFE) 2 x 2984 & (nonsingular) 2 A » det(A™) = i ©

(c) ZA, B¥En x nER LB E—EE0R Ex, € RMEMF Axy = Bxg
Al A — Bk B ¥ £4B ™ (singular matrix) °

6. (14%) Find the eigenvalues and the corresponding eigenvectors for the

matrix
4 1 0
A= -5 0 1
1 -1 -1

and then find A%
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